Entering PreCalculus Summer Homework

Due September 10, 2013

1. Find the sum of 5x° —3x2 +5 and —2x° + 632 — 5.
2. Perform the indicated operation: —5(4a — 6b)
3. The sum of 3x> + x—7 and x* + 10 can be

expressed as

A 4t +x-3 B. 3x2+x+3

C. 3x*+x-3 D. 4 +x+3
4. Simplify by combining like terms:

(5a + 3b) + 2(a — 3b)

—18x% |
5.  The quotient of —3— is equal to
6x-

A -3¢ B. =%} C -12¢ D. -12¢°
6. If 15x% is divided by —3x3, the quotient is

A. -5x* B. -5x%y C. 5x? D. 5x%
7. The product of 4x* and 5x° is

A, 9%° B. 9% C 20x®° D. 20x%
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4.2
The quotient of B4y is
14xy
A 2y B. 243
C. 14xy D. 14x%?

What is the product of 3x* and 2x°7

A, 5¢ B. 6x’ C. 6x2 D. 5xI2
The fraction —12.x3y5 , x#0, y#0, is equivalent
3xy3
o
—4x2
A, —4xty? B. _3x
y
C. 4xly? D. —dx%y?

Express the product (2x — 3)(x + 5) as a trinomial.

The expression (x — 4)? is equivalent to

A X2-16 B. xX+16

C. 2-8x+16 D. X2+8x+16

Express the product of 2x —3 and x+4 as a
trinomial.



14. Express the product (2x - 3)(x —2) as a trinomial. 25. Written in factored form, the binomial a2b — ab®

is equivalent to

A. ab(a-b) B. (a—b)a+b)
15.  Express the product (2x — 1)(3x +4) as a trinomial. 9
C. a*(b-b? D. d’b*(b-a)
16. Express the product of 2a+ 1 and a4 5 as a
trinomial. 26. Factor: a* -9
17.  Factor: x> +5x—24 27. Express 4x* — 25 as the product of two binomials.
18. Express x*> + 5x — 6 as the product of two 28. One factor of the expression x2y? — 16 is

binomials.

A. xy—4 B. xy-8 C. x*-4 D. x*+8
19. Factor: x* —6x—7
29. The greatest common factor of 4a%b and 6ab’ is

2
20. Factor: b*—4 A. 2ab B. 2ab

C. 12ab D. 24a°b*

21. Factor: x> —5x+6

30. The expression 9x2 — 100 is equivalent to

A, (Ox—10)(x + 10) B. (3x-—10)(3x + 10)

22. Factor: x* — 16x + 48
C. (Gx-100)3x—-1) D. (9x— 100)(x+ 1)
23. The product of two factors is x> —x —20. If one
of the factors is x — 5, what is the other factor? 31, Which expression is equivalent to 92 — 167
A, 3x+4)(3x-4) B. (3x—4)(3x-4)
74. Factor: 4x2 — 90 C. (3x+8)(3x-8) D. (3x-8)(3x-18)
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32. Which expression is equivalent to 121 — x2?

A, (x=1Dx-11) B. (x+1D(x~-11)

C. (Il=x)(11+x) D. (11 =x)(11 —x)
33. Factored completely, the expression 3x* —33x2 +90x

is equivalent to

A. 3x(x*=33x+90) B. 3x(xX-llx+ 30)

C. 3x(x+5((x+6) D. 3x(x-5)(x-6)
34. The greatest common monomial factor of 12x2 and

83 is

A. 96 B. 122 C. 8 D. 4x?
35. The greatest common factor of 12x%y* and 24x?

18

A. 6xy B. 2xy? C. 12v* D. 2y
3. Ifa+b =5 and a—b =3, find the value of

gt =h2
37. If A=p+pr, then ¢ equals

A-1 A
A. B, '—~=p
r pr
A=
g, Arp D P
pr pr
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What value of k makes the trinomial x% — 10x + k
a perfect square?

If (x-3) and (x +7) are the factors of the
trinomial x* + ax — 21, what is the value of a?

Ar —3 B. -4 G 7 D. 4

If x+2 is a factor x2 + bx + 10, what is the value
of b?

If 12x* — 3x + 6% is divided by 3x2, the
quotient is

A, 92 -3 B. 5x?

C. 4x2-3x+2 D. 4x2—x+2

15k% — 9k% + 3k

The expression % ok #0, 18
equivalent to

A, SkE=3k+1 B. 5k -3k

C. 15Kk% — 9k? D. 3k

When 12x* — 3x3 + 632 is divided by 3x?, the
quotient is

A 47 =30 + 622 B. I2x*=3+2

C. 92—x+2 D. 4x2 —x+2
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44. The expression

46.

47,

48.

49.

3 9
25m” + 10m* - 5m
e O —Jm

Sm

; »m#0, is
equivalent to

- 2
A Sm +2m—1 B. Sm?+2m

C. 6m D. Sm?+5m—1

If 12x* - 3x is divided by 3x, the quotient is

A. 4x-3 B. 4-1 C. 3x D. 4x

If 28x* — 36x? + 4x is divided by 4x, the quotient
will be

A, Tx% =9y B. 28x —36x2

C. 7x*=9x+1 D. 28x —36x2 +1

When 5x* — 5x is divided by 5x, the quotient is

Ay & B. -1 C. ©£-1 D. 5x

=120 + 4 - B : ,
The fraction ———————, x # 0 is equivalent

2x
to
A, —6x%+2x—4 B. 6x*+2x—4
C. 6x*—2x+4 D. —6x*+2x

2% . "
is equivalent to

If x # 0, the expression -

A x+2 B. 2 C.
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When 3x? - 6x is divided by 3x, the result is

=0 B2y C. x+2 D. x=2
What is 6x° + 4x? + 2x divided by 2x?
A 3x% 4+ 2x B. 32 +4+2x+1
C. 4x®+2x D. 4 +2x+1
- 45a*b* — 90a’b
Express in simplest form; —M———
15a2b
T ?  x-1
Expressed in simplest form, — %
Xe - X
x# 1,0,—1, is equivalent to
2 2x
A 2 B 3 ¢ £ o -
x=1 X x+1

Express the product in lowest terms:

P2-x-6 2
3x-9 x+2
-
x*—16 e
When = = . is divided by x , the quotient is
x—4 1 4
— D.
i 4 B X G x—1 x—4

Perform the indicated operation and express in
=16 x+4

simplest form: D0 x—3
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57. Express the product in simplest form:

2 -
(azf?.S) (0—22_(1_32)

58. Which expression is undefined if x = 2?

x—=2

2

(x—2)x+2)

59. For which value of x is the expression —
X

undefined?

A

60. For which value of x will the fraction —
2x

undefined?

A -4

6l. The expression is undefined if x is

T_T
equal to (=1 +2)

A —-lor2

C. 0

62. Which value of x will make the fraction r_6
X+

undefined?

x=12 :
63. The expression = 3 is undefined when x is equal
X

64. For which value of x is the fraction =

undefined?

A 1
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